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Here, the answer is C.  

The paragraph explains that the only way to own a house with three bedrooms and a 
garage is to spend more money than you are willing to pay for it. Therefore, there are 
two variables that need to be considered. You cannot have one without compromising 
the other. Variable one is the house with three bedrooms and the garage. The second 
variable is the cap of money that you are willing to spend, which is 150,000 euros. 
Therefore, you cannot get variable one if you spend 150,000 euros. 


The same parallel reasoning is present in statement C. The first variable is a powerful car 
and the second variable is fuel efficiency. You cannot have both variables together, as a 
powerful car is never full efficient. 
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